Question Scheme Marks
Number
3(a) Sx+1 3
(x+2)(x-1) x+2 B1
Sx+1-3(x-1) M
(x+2)(x-1)
M1 for combining fractions even if the denominator is not lowest common
_ 2x + 4 _ 2(x + 2) _ 2 % M1 A1 cso
(x+2)(x-1) (x+2)(x-1) x-1
M1 must have linear numerator “)
(b) j
y= '1 = xy-—y=2 = xp=2+) M1A1
i
=" o Af
(e) : 2 2
g(x)= ———— (attempt
2= (attempy) o] .
: gl
Setting — = — and finding x = ...; x==7 2
5 T rd 1 £ M1: A1
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Cruestion Scheme Marks
MNumber
6. (a) ¥ Translation < by 1 M1
/ Intercepts correct Al (2
=3 u|/ T %
a
b) y &
x 20, comect “shape™ Bl
\ / provided graph is not original
. graph
-3 0 3 x
}y Feflection in y-axis Bly
Intercepts correct Bl (32
(c) a=-2, b=-1 BIBL (2
(d) Intersection of y = Sxwith y=-x-1 M1A1

[MNotes:
(1) If both values found for 3x=-x-1 and 5x = x- 3, or solved

- 1 .
algebraically, can score 3 out of 4 for x=- 3 and x =—3;

required to eliminate x = — %4 for final mark.

(1) Squaring approach: M1 comect method,
245"+ 22x + 3 =0 comect 3 term quadratic, any form) Al
Solving M1, Final comect answer Al.]
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EDEXCEL CORE MATHEMATICS C3 (6665) — JUNE 2006 MARK SCHEME
Question =K
Number Scheme Marks
3. (a) s Mod graph. reflect for y < 0 M1
a (0. 2). (3. 0) or marked on axes Al
(3,¢) A :
Correct shape. mcluding cusp Al (3)
(®) 3 Attempt at reflection iny =x M1
(03
Curvature correct Al
3] © i
(=2.0). (0.3) orequiv. B1 (3)
© ;[ Attempt at “stretches’ Ml
t""‘ — (0. _1) or eq‘li‘.i B1
(1. 0) B1 (3)
(9 marks)




EDEXCEL CORE MATHEMATICS C3 (6665) — JUNE 2006 MARK SCHEME

Question : a2
Number Sl Mk
- (@) it Log graph: Shape B1
: rL'.‘ L\-_‘l
_.—';—IF,‘I—I 5 iy % Intersection with —ve x-axis dB1
) '
(0.In k). (1—F% 0) Bl
3 Mod graph -V shape, vertex on +ve | B1
N X-axis
i h‘}j i’
T (£ o)
: ©.5)and| .0 Bl (5)
(&) fix)e R ., —m<f(x)<m, —m< y<m Bl (1)
P 9 {
O | f®) = g+ 1 Z k] o f||—£|] Mi
L4 4 Loz
=In {g ) Al (2)
() | dv 1
dx x+k =
; 3 : 1 2
Equating (with x = 3} to grad. of line; B M1; Al
k= 1% A1V ()
(12 marks)




